Pr

Central Portal for
Philippine Government

urement Oppurtunities

Bid Notice Abstract

Request for Quotation (RFQ)

12107129
MUNICIPALITY OF ANILAO - ILOILO

Reference Number

Procuring Entity

Title IMPROVEMENT OF OPCEN (TRANSFORMER FOR OPCEN & APCF) CONVERTION OF SINGLE
PHASE LINE TO THREE PHASE LINE
Area of Delivery Iloilo
Solicitation Number: 2025-077 Status Pending
Trade Agreement: Implementing Rules and
Regulations
Procurement Mode: Negotiated Procurement - Associated Components !
Two Failed Biddings (Sec.
53.1)
Classification: Goods Bid Supplements 0
Category: Electrical Supplies
Approved Budget for
thpepContract: 9 PHP 528,865.68 Document Request List 0
Delivery Period: 15 Day/s
Client Agency: Date Published 06/06/2025

Contact Person: Nestor, Jr. A. Malunes

Municipal Assessor Last Updated / Time
4th Congressional District,
Anilao

Iloilo

05/06/2025 14:58 PM

Philippines 5009
63-33-3620459
63-33-3620459
engineeranilao01@gmail.com

Closing Date / Time

11/06/2025 10:00 AM

Description

- pcs - Anchor, Expanding, 10,000 Pounds, 8 Way, Galvanized Steel
- pcs - Bolt, Thimble Eye, 5/8", X

8 - pcs - Bolt, Double Arming, 5/8" X18"

- pcs - Bolt, Double Upset, 5/8", X 10"

- pcs - Bolt, Oval Eye, 5/8" X 10"

- pcs - Bolt, Oval Eye, 5/8" X 12"

2 - pcs - Bolt, Machine , 1/2" X 6"

0 - pcs - Bolt, Machine , 1/2" X 10"

- pcs - Bolt, Machine , 5/8" X 10"

4 - pcs - Bolt, Machine , 5/8" X 14"

3 - pcs - Bolt, Single Upset, 5/8" x 10"

16 - pcs - Brace, Angle. 1-1/2" x 1-1/2" x 3/16", 60" Span

9 - pcs - Clamp, Hot Line, #2 - #2/0 ACSR Main to #2-#2/0

.) 4 - pcs - Clamp, Anchor Rod Bonding, Single Eye

15.) 24 - pcs - Clamp, Loop Dead-end, #2/0 ACSR

16.) 15 - pcs - Clamp, Dead-end Strain, #2/0 ACSR

17.) 8 - pcs - Clamp, Guy Straight, 3 Bolt, Heavy Duty Steel

18.) 12 - pcs - Clevis, Secondary Swinging without Spool

19.) 2 - pcs - Shackle, Anchor, Forged Steel, Galvanized

20.) 977 - pcs - Conductor, Bare, ACSR #2/0, AWG 6/1

21.) 8 - pcs - Connector, Compression, YHO 200, #1/0-#2/0 ACSR Run to #6-#2
22.) 10 - pcs - Connector, Compression, YHO 300, #1/0-#2/0 ACSR Run to #1/0-#2/0
23.) 6 - pcs - Connector, Ground Rod (Clamp) for 5/8" Steel Rod

24.) 6 - pcs - Cutout and Arrester Combination, Porcelain

25.) 9 - pcs - Insulator, Pin Type, Porcelain, ANSI, Class 55-5

26.) 10 - pcs - Insulator, Spool, 1-3/4", ANSI Class 53-2

)4
D)4
)1
)3
)8
)a
)3
)1
)6

)
)
)
)

HEREREBOONOUDWNER

AWNRO



javascript:void(window.open('/GEPSNONPILOT/helppages/buyercoord/PRP/help_PrintableBidNoticeAbstractUI.htm', 'helpWin', 'resizable=yes,toolbar=no,menubar=no,directories=no,status=no,width=480,height=480,scrollbars=yes'));
javascript:void(window.open('/GEPSNONPILOT/helppages/buyercoord/PRP/help_PrintableBidNoticeAbstractUI.htm', 'helpWin', 'resizable=yes,toolbar=no,menubar=no,directories=no,status=no,width=480,height=480,scrollbars=yes'));

27.) 8 - pcs - Insulator, Spool, 3", ANSI Class 53-4

28.) 6 - pcs - HDPE Cross-arm Pin, 1" Long Shank, 14"

29.) 45 - pcs - Insulator, Suspension, 6", Porcelain, Clevis Type
30.) 15 - pcs - Nut, Eye, 5/8", Conventional

31.) 3 - pcs - HDPE Pole Top Pin 1" & 1-3/8"

32.) 4 - pcs - Rod, Anchor, Threaded, Single Eye, 5/8 x 7

33.) 15 - pcs - Rod, Armor, Preformed, #2/0 ACSR, Single Support
34.) 6 - pcs - Rod, Ground Steel, Galvanized, 5/8" x 10"

35.) 98 - pcs - Washer, Square, Flat, 2-1/4" x 3/16", 13/16" Diameter Hole
36.) 240 - pcs - Wire, Grounding, Aluminum Alloy, 3 Strand, #4 AWG
37.) 200 - pcs - Wire, Guy, Steel, Galvanized, 5/8" x 10"

38.) 4 - pcs - Pole, Steel 40', 3.0mm (50%)

39.) 1 - pcs - Pole, Steel 40', 3.0mm

40.) 16 - pcs - Cross-arm, Steel 3" x 4" x 8", 3.0mm

41.) 2 - pcs - A5

42.) 3 -pcs -C1

43.) 4 - pcs - C7

44.) 6 - pcs - M2-11A

45.) 4 - pcs - E1-2

46.) 4 - pcs - F1-3

47.) 3 - pcs - 15

48.) 4 - pcs - 16

49.) 2 - pcs - J15

50.) 4 - pcs - Pole Erection (40 Feet)

51.) 1 - pcs - Pulled Out of 30 Feet

52.) 3 - pcs - Pulled Out of 35 Feet

53.) 0.977 - pcs - Conductor Pay-out #2/0, AWG, ACSR

54.) 11 - pcs - M5-1

55.) 8 - pcs - M5-10

56.) 5 - pcs - M5-12

57.) 5 - pcs - M5-14

58.) 1 - pcs - M5-20

59.) 1 - pcs - M5-23

60.) 25 - lot - Retirement and Installation of 25KVA Transformer
61.) 11 - lot - Rehab of KWHR Meter

62.) 1 - lot - Engineering Expenses (Three Phase Line)

63.) 1 - lot - Hauling of Materials

Line Items
Product/Service I .
Item No. Name Description Quantity UOM Budget (PHP)
1 CONVERTION OF IMPROVEMENT OF OPCEN 1| Lot 528,865.68

SINGLE PHASELINE TO | (TRANSFORMER FOR OPCEN & APCF)
THREE PHASE LINE CONVERTION OF SINGLE PHASE LINE
TO THREE PHASE LINE

Other Information
Submission of Quotation until June 11, 2025 @ 10:00 A.M.

Created by Nestor, Jr. A. Malunes
Date Created 05/06/2025

The PhilGEPS team is not responsible for any typographical errors or misinformation presented in the system. PhilGEPS
only displays information provided for by its clients, and any queries regarding the postings should be directed to the
contact person/s of the concerned party.

© 2004-2025 DBM Procurement Service. All rights reserved. Help | Contact Us | Sitemap


javascript:void(window.open('/GEPSNONPILOT/helppages/buyercoord/PRP/help_PrintableBidNoticeAbstractUI.htm', 'helpWin', 'resizable=yes,toolbar=no,menubar=no,directories=no,status=no,width=480,height=480,scrollbars=yes'));
javascript:void(window.open('/GEPSNONPILOT/helppages/buyercoord/PRP/help_PrintableBidNoticeAbstractUI.htm', 'helpWin', 'resizable=yes,toolbar=no,menubar=no,directories=no,status=no,width=480,height=480,scrollbars=yes'));
https://notices.philgeps.gov.ph/GEPSNONPILOT/Tender/PrintableBidNoticeAbstractUI.aspx?refid=12107129#
https://notices.philgeps.gov.ph/GEPSNONPILOT/Tender/PrintableBidNoticeAbstractUI.aspx?refid=12107129#
https://notices.philgeps.gov.ph/GEPSNONPILOT/Sitemap/Sitemap.aspx
https://notices.philgeps.gov.ph/GEPSNONPILOT/Sitemap/Sitemap.aspx

